HENEREREHES

Mt

SH44E5H188 (K)

$:550) (847 : kg)
EES G b B = = 1B Z 1B " =

S 228 <IN 3,565.6 44 22
£S5 397.6 795 411
HAH LA 151.8 190 29
JUH LA 484.5 311 20
LSHLA 22.9 229 30
TFELASH LA 578.6 795 146
ZRHLA 250.3 350 20
HSRHLA 1,064.8 169 21
eLoo 60.0 o8 20
%55 28.8 89 41
2007 37.7 179 21
FAALY 130.0 1,477 510
<7+d 165.0 1,019 509
TVAVTAF X 25.2 61 29
F7>00 877.4 165 20
HFHZS 225.3 33 20
FWRA) UL 42.2 470 29
TAF X 39.0 1,339 130
TLINN 28.9 200 36
ALY 41.2 4,500 450
VN 63.0 | 28,282 | 11,900 [L0° N
AX5d 222.3 789 20

It 4,936.5




€:E3::) (BT : kg )
peES ] migE M = = 1B Z 1B fm =&
SE 228 ZILAA T 736.8 279 66
ZILAA 158 39.0 2,372 1,000 | 10"
i :c/s
UL H 1,726.6 789 219
71U 158 980.0 4,004 1,969 | o’
1 c/s
Y ROAH 20.7 490 469
==47 52.8 150 98
=247 112.0 719 389
== 3,004.3 709 30
FAEFTT 858.1 2,509 1,000
SEtHE 11,691.0




[f¥fa] (BT ¢ kg )

RETENE gy M 2 = 1B Z fB fm &
EERFE 1668 |<TH/N\ 67.8 111 20
ESX 499.6 719 100
AATH LA 130.3 826 250
) LA 268.8 288 109
LA LA 448.6 323 43
IHLA 211.3 323 139
IOHLA 107.2 589 50
HSZH LA 1,166.3 169 20
O9F 28.9 150 101
<A 86.4 699 190
FHA 51.8 230 20
F7>09 1,753.7 155 30
HFHS 166.7 36 20
>Ox4)UL 519.7 820 300
FWRA) UL 35.8 250 20
ZXF 752.0 411 159
JEZHRN 228.2 130 20
TRIIR™ 191.1 1,000 49
ESWXHZ 126.2 678 119
HY= 38.4 3,000 1,000
EIVHA 157.5 401 100
e 2% TYAYTAFA 18.6 159 20
INEH 7,054.9




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
Uil 4 541 24.9 541 211
XAXF 690.0 449 179
#}D 4& > up YAVIN 116.8 820 539
ait#E 7,886.6




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
HE 228 <7+ 566.5 1,300 1,000
X453 49.9 800 500
EEXFE 166%|ES5 X 8,364.3 700 300
ASHLA 199.7 400 200
<3aHLA 504.6 2,800 200
<A 409.7 1,100 400
A F A 26.9 1,000 300
RZF 2,374.3 450 350
MU 4% <A 139.2 600 300
RZF 151.0 450 300
aitaE 12,786.1




